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Because one can say, an ¥''y who is sold to a Gentile will prove it

Overview

The X3 concluded that if not for the P09 of X» X3 oxy,' which is written by
annR 77w wrpn, we would have derived through a mwn 7% from ,An0AR 737w 7010
n"v3, and 1219 19137 ¥",” that ANAR 7@ WOTPR is not 1RYAY YR In any event we
see that an ™1% 7117 V"'V is T» X% and nevertheless is not PRI YR KR 710,
Our mMoon explains why it is necessary for a p109 to teach us that AnnAR 77w 700 is
not PRXM? YR, when we can derive it from *121% 70117 ¥"v through a1"'p.

nvoIn asks:
= PNRIND TN 1DINY 91910 AHNNR NTYa 251197 INYIND 279 NN 29 N9 XD DN

And if you will say; but why do we need the P10 of '\n®IRs 575 R¥»Y', which is

written by 77K 7772 701 to teach us that he cannot be PR3 X5 -
=993y a9 MM YPa 1YY 19N

Let us derive that a 71X 77w 72 is not 1°Xx¥n? 281 through a v''p from an »''y -
= 79 YN IND NOY 02999 T2IYY 991250 Y92y TaY N1

And what if by an »''y who is sold to a 921, whose power is strong that he can

redeem himself immediately from his master the 733; he need not wait -
- 790292 1’N3f\7 HNIN HNINI 19 990N 291 199N

But nevertheless despite his ‘strength’, he is not PR2AS DR HRA 79 as just
mentioned,5 so one who is -
= ('na xap) FINYAD $IW 99013 290579 1519 HNIY 1N ¥NY ANNNR N1Y 99

TR TR 9012, whose strength is weakened, regarding redeeming his field from

the buyer immediately, as it is written NIRI2n S 92013, from which we derive that

he must wait at least two years after the sale before he can redeem it from the buyer -
- sjmsnb NI TN M PRY )T PPN

"12,19 (Cmpr2) X9p”. See 2,5 1w

2 We require ¥"¥ (in the mwn 7%) for otherwise we can ask that the mwn 7 (of ANAX 77w 721 and 1"v2) cannot be
TP w32 X1 (as opposed to R"W wrTpn), therefore we include ¥"y who is 7o YR and 71w 71w3 and nevertheless is
not PRI KR KRN M.

? See previously 2,2.

4 12,79 (712) Xp". The word 75" which means sufficient, teaches us that he must have sufficient funds to redeem the
entire ANNR 77w, he cannot make a partial 79IX3; it is not PRIAY XA

> See footnote # 3.

69,03 12 mwn (see also 1M "7 2,3 *"wA).

"o 1o M.

% An ¥"y has a greater capacity to be X than a X"w 72 (for the 72y can redeem himself immediately, while the
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Is it not certainly justified that he is not PR37% R DRI 7!

N1B0IN answers:
= NOO'N 919917 19 NN NAIINT 99D v

And one can say; on the contrary, we should say the opposite 17 -
- %15R8NY SN ININ 1YY 91 19598 792193 ©93N9Y PINSY N YNAY WITHNI N

And what if by a amnX 77w wetpn, whose power is weak, for his field will be
divided amongst the 21715 on %2 (if it was not redeemed [by the owner]), but

nevertheless he is 2", so -
= 1RENY HRIN ININ MY 19T 199X S22 DY9¥AY NINNY 1N DAY 1M

A X"v 92m whose power is strong, for his field returns to the original owner on
bay, if it was not redeemed, is it not certainty justified that he is %X By mb
PRET!

Mmoo anticipates a difficulty with this 1"p:
- 2550 SN N9 YNNY 99993 NN T INIY IND NOXY WITPNRY N1 NI 99

And if you will say; do you know why a X"w w7pn is ¥"n%2%, because his
power is strong to redeem immediately; can you say that regarding a X"v 92,
whose power is weak for he cannot redeem immediately, but must wait two years —

mooin replies, even though we have refuted the 1"p from X"w w>7pn regarding R"w 121 -
- %9131 95 SNNN 09995 19981 TN IR Jha 1w B98N wNa BPn Yan

Nevertheless, regarding 29317 "n2, whose power is strong to be redeemed

immediately, we can derive through this Y''? from x"w w>7pn -
— PNIND TN IRIN MY NN

That the 273177 °n2 should be PREAY BRI BRI MY -

X" 10% must wait two years) and nevertheless the ¥"y cannot be PRIM? PR, so the X"w 731 for whom it is harder to
redeem (than an ¥"¥) should certainly not be PR¥I? X,

? See X3-2 ,12 (*mpra) Xp regarding a X"w wrTpn, which reads; X3 X9 90K XY 77T DX 120 OX) 77T DR 98 ¥ oX)
INIOR IR 1952 000 AT M3 WP 9252 inRYa Ao M LT

1 We derive this from the P05 of HX3 X3 OX1 (see [text by] footnote # 1).

" A X"w 12m has a greater right to his field than a X"w w>7pn (for the 791 gets his field back on %av [if he did not
redeem it], however the X" w>7pn does not get his field back [if he does not redeem it]), so if the w>7pn (who is
weaker) can be X"n937, then certainly the X"w 15w (who is stronger) can surely by X"n3m5.

2 Therefore since the strength of X"w 121 is less than X"w w*7Tpn, we cannot derive that just as X"w w>Tpn is X"123m
o X"w 10w should (certainly) also be ¥"n23m5.

'3 pxni °n3 are houses in courtyards, not in a walled city. See X7 ,75 (172) X" which states, X WX 0°%77 A
R¥? 921721 19 000 PR3 AW yIRT 77 9Y 2720 nh 0o,

YIfa x"w w>1pn, whose field does not return to him by 921, nevertheless can be ¥"n73M%, so 2°7%¥n7 °*n2 who are
stronger for it is 212 7N, should certainly be ¥"n?3m7%. See “Thinking it over’ # 1.
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= NI INND 15D NP9 993 NHINK NTY DIISNN N2 139N 9NN
And once we have seen that by 2°92m:7 °n2 it is ¥"n>27 (from the aforementioned

1"?), we can also derive IR 772 101 for this rule of x"moaab -
- *awns yIND N1V 9y ¥ r33m5 AwIe 1na 1IN

For both of them, X"¥ 151 and 2°7%177 °N3, are written in one W= as it states

that ‘the 0°7xr77 °na should be considered like the ‘fields of the earth’,” so that by

R"W 791 it is also ¥"mPaAy -
= VNN NTY 99992 173’5'\:‘1 INTIND Y79 NN TI08N "Ny

Now therefore the 7109 of 1IR3 572 NX3»Y, which is written by 78 7w, is

necessary -
- PPNSNY NN TN 199 1INY Y

To teach us that by a X" 121 he is not PRIAY PRI DRIA 7Y -

= YY1 WITPNN 991Y PNYT XPYOT
For it could have entered our minds to derive X" 7121 from X"w w>7p» through
0°7%177 °n2 that it is ¥"n237, as I just explained.

mMooIn concludes with the ruling of a>7xn7 na:'®
1PPRENY IR XM 1Y PRY 53 09801 N3 1)) 13299 XOWAM)

But now that there is the 105 of 171X >75 X¥»1 that teaches us that X" 19w is not
3"moah , we can also derive 2"xn ona from X'w 10 that it too is not
XA,

Summary
We need the 109 of 1IR3 72 R¥M by X"Ww 751 to teach us that X"n73M% WX, for

otherwise we would have derived that 0°1%n7 °na is X"n22M° through a 'p from
X"Ww w771 and then compare X"Ww 721 to 2°7%1:7 N2 which are written 7w 712,

Thinking it over
mMoon states” that we can derive that 2°¥n7 °na are X"n9M3Y through a 1"p from

'3 See footnote # 13.

'® The 77, by writing 2wm ¥R 77w ¥ by 0787 °n2 is indicating to us that (besides the difference which the 710
states explicitly [that X"w is R\ after two years]) the rules of 0217 °n2 and yIR7 77w (meaning ANAR 77W) are the
same; in our discussion that by both we may be 7°XXn? 2R3 2811 M.

799,79 (m2) x9N

'8 Seemingly by >%n71 °n2 he should be x"r23m1» for we derive it through a 1"p from X"w w>7pn, as just mentioned in
moon.

1% See footnote # 16. The 7N compares the laws of X"w 127 and 01377 N2 to each other (that by both he is not
2"ob).

0 See ‘Thinking it over’ # 2.
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iR 77w wpn. However we can refute this 1" by saying 1°21 v'"v that even
though he is 2172 X¥v (and 71 9X3), nevertheless he is not X" 1%

2. The ®n»72 and the ensuing X132 discuss at length that if the 7710 would not have
written PR3 HX3 OR) by X"w w>7pn we would have thought that it is not ¥"n%2x% for
we would derive through a 1"p from X"w 727 (and eventually from a mw:s 7% of
n"va ,R"Ww 79m and ¥'"Y) that it is not X"1P3M%. However now that mooIn concluded
that by o>7%m7 °na he is not ¥"roMM5 (for we derive it from X"w 731),> the Xm3
should have said that if not for 73> 983 X1 we would derive that X"w w>7pn is not
X"n92MY, through a 1"'p from 212n7 °n3, and on this 1"'p there is no X279 (that ¥y
71 HR25 I12) so we do not need a MW 7, and it is also YpIpn YPIp, so why derive
it from X"w 127 where there are all these complications.**

3. mpon initially” brought two 1"p regarding X"w 72, one from ¥"y which teaches
us that X"w 737 should not be ¥"m>an? (like ¥"v),%® and one from X"w w*7pn, which
teaches us that a R"w 23m is ¥"moan> (like X"w w7pn).”” Which of these two
contradictory 1"p is more compelling, regarding whether a X"w 121 is X"n%231% or
is not X"n7xN5?

2 See footnote # 14.

22 See (MR RN

3 See footnote # 20.

2 See TR X"WAN.

 Before he cites the 1"p regarding 2™ °na.
% See footnote # 8.

7 See footnote # 11.
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